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Multiplication (Vertical) Name:
Solve each problem. Answers
) 801 2 277 3 283 4) 846 )
X 8 X 6 x 2 X 3 '
2.
3.
4.
5 434 6) 686 ) 874 8 828 i
x 4 x 5 x 7 x 2 '
6.
7.
8.
9 696 100 909 1) 174 12) 618 .
X 2 X 7 x 4 X 2 .
10.
11.
12.
13 182 14) 511 15 541 16) 833 s
x 8 X 6 x 9 x 5
14.
15.
16.
1) 506 18) 369 19 759 20) 953 .
X o] X 2 X 3 X 8
18.
19.
20.
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Multiplication (Vertical) Name:. Answer Key
Solve each problem. Answers
1) 2) 3) 4)
801 277 283 846 ) 6.408
X 8 X 6 x 2 x 3
6,408 1,662 566 2,538 ” 1,662
3 566
" 2,538
5 6 7 8
) 434 ) 686 ) 874 ) 828 . 1736
x 4 x 5 x 7 x 2
1,736 3,430 6,118 1,656 6. 3,430
7 6,118
8. 1,656
9 10 11 12
) 696 ) 909 ) 174 ) 618 o 1392
X 2 X 7 x 4 x 2
1,392 6,363 696 1,236 0. 6,363
11 696
. 1,236
13) 182 4 511 15 541 16) 833 s 1456
x 8 X 6 x 9 x 5
1,456 3,066 4,869 4,165 14. 3,066
15, 4,869
6. 4,165
1) 506 18) 369 19 759 20) 953 o 4554
x 9 x 2 x 3 x 8
4,554 738 2,277 7,624 18, /38
. 2,277
2. 1,624
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C&lj Multiplication (Vertical) Name:

Solve each problem. Answers
1,662 1,656 6,363 6,118
566 1,392 6,408 1,736 1.
2,538 696 3,430 1,236
2.
) 801 ) 277 3 283 4) 846
X 8 X 6 X 2 X 3 3,
4.
5.
6.
7.
8.
S 434 6) 686 ) 874 8 828
x 4 X 5 X 7 X 2 9
10.
11.
12.
9 696 100 909 1) 174 12) 618
X 2 X 7 X 4 X 2
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